=)

Ll

1
3

®1




2 mol #Hap r

o7} 15

1

Il
— R

—




3.

B 47150 AEelA BA o 53 AARE BAE o]
ALY

a <
3cm -
| I E = =
I
/1 9em 7 : :
12cm | | :
| | | I
\ | | I
\ | | |
) P I !
H A (@] z
=

O EAE vo @ RAZ v A @ RAZ ~o
@A == ® A 15

ol AM=E HAde wet HAE o ZAM =53 vt 24
2l EAE me gyt




© (BA29] )=(

& g
[SACIN
TTET
AL
Mﬂdﬂ\:/é:
o <
R T o B
Hr o B! B

—_— — — —




ofn

o

ol 47HdYt.

2
=
@ A7A7)5o A=

'
=3

97 A T

=S
L.

< 470y

‘ml.._ O_.._

BN
N
XB <A

T




6. the RO A% 2 A £A7E 0 AL o= AU

® 1.68+38 @5.4+5 ® 321+3

@ 126+9 ® 153+6

D 1.68+8=0.21
@®54+5=1.08
® 32.1+3=10.7
@ 126+9=14
® 15.3+6 =255




e thedle] AT 0 2 SHHE A o AU

2.7+54
D 0.5%x2.7 =54 @ 5054 =2.7
@ 5x54=27 @ 0.5x54 =27

@)0.05x54 = 2.7

B

2.7+ 54 = 0.05

Y27t 09 Al o] A2 () x (UFE )= (U9
A& ) Yyt

mabA] 2.7 + 54 = 0.05 2] HAMA2 0.05 x 54 = 2.7 JY T},




@? ®§0 3)18 =8
@ 89+5 ® e

®;=5+7=0.714---

@z:7+5:1.4
5
@ 18+8=2.25
@®89+5=1.78
5

50
@70 5 5+7=0.7




e & &ol 18+ 24 o] Ky} o2

@ 30+40 ® 48+ 64

~&B

18+24=3+4=0.75
D9+12=3+4=0.75
@®6+8=3+4=0.75
®10+16=5+8=0.625
@30+40=3+4=0.75
®48+-64=3+4=0.75
wrEhA Sxo] thE A2 @YY




10. o 44 S04 3 T30 Aolell Pk 58 B T2AL.

D)3.78 @ 3.135 (@)3.56 @ 3.98 ® 3.24

1 7
- =32 = =3
34 35,38 3.875

3.252} 3.875 Ato] Q] A= 3,787} 3.56 YU Tt







D

@ Sim

1

@ ?km
2

©) 1?km

1
@ 1?km

B

2] 7 7|7 L 6 Aol mz




13. wol7} 429 em? O], A|27} 5em Q1 AAZRS Hgo] 4 £7o R

e, @ 249 A2 2 an 94 742,

5cm
/I
2 1 3
@ ?QCm @ 2Z cm ©) 4? cm
@ 6? cm ® 8? cm

1 27102 ier] A AN2hgo] 7o) hol




14. AAAE 1rce9 %3017}9%cm2 BNk

201147]-‘7
| =
v | Y
@ 1£cm @) 2£cm 3)3— cm?
356 24
@ 448 cm ® 524 cm




15. oW 58 12 2 e o2 2 & Fopae 230 71 gy ol
»g P34 2.

1 1 2 3 1
15— 40— 106— 120— 141—
Oy @4 @106 @ 120] ® :

~&B ~

+12><2:23§—> :23§+2><12
9 9




